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86 
13. 

If the compound interest on $1000 for 
two years at 9% p.a., pay half-yearly is 
$x, find x. 

  
 A. 

1000 × 
100

9
 × 2 . 

 B. 
1000(1 + 

100

9
)4 . 

 C. 
1000(1 + 

100

5.4
)4 . 

 D. 
1000(1 + 

100

9
)2 − 1000 . 

 E. 
1000(1 + 

100

5.4
)4 − 1000 . 

  
86 
14. 

If sin θ cos θ = 
4

1
, then (sin θ + cos θ)2 

= 
  
 A. 2 . 
 B. 

2

3
 . 

 C. 1 . 
 D. 

2

1
 . 

 E. 

4

1
 . 
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 Which of the following functions may 

be represented by the above graph in 

the interval 0 to 2π? 
  
 A. y = cos 2x . 
 B. y = 2 cos x . 
 C. 

y = 
2

1
cos 2x . 

 D. y = sin 2x . 
 E. y = 2 sin 2x . 
  
86 
16. 

sin4 θ − cos4 θ = 

  
 A. −1 . 
 B. 1 − 2 cos4 θ . 
 C. sin θ − cos θ . 
 D. sin2 θ − cos2 θ . 
 E. 2 sin4 θ − 1. 
  
86 
17. 
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 In the figure, ∠A : ∠B : ∠C = 
  
 A. 2 : 3  : 1 . 

 B. 4 : 3 : 1 . 
 C. 3 : 2 : 1 . 
 D. 3 : 2 : 1 . 


















